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PART A: Structure

Directions: Choose the word or phrase that best completes the sentence. Then mark the
correct choice on your answer sheet.

1- Square rigged ships, ~--------eecemeeeu high speeds only when traveling with the trade winds, are
not used commercially nowadays.

1) they can attain 2) can attain 3) when attaining 4) which can attain

2- Not until about a century after Julius Caesar landed in Britain --—---c-mceemmmmmv actually conquer
the island.

1) the Romans 2) the Romans did 3) did the Romans 4) Romans that

R e ——— ,» Luxor did not reach preeminence until about 2,000 B.C.

1) Although founded many centuries earlier ~ 2) Many centuries earlier it was founded

3) The city founded centuries earlier 4) Founding the city centuries earlier

4- e interest in the planet Uranus dates from its discovery in 1781 is not surprising.
1) It was scientific 2) That scientific 3) Though scientific ~ 4) Scientific

S e the Dartmoor ewe and the Dumpy hen, the Tamworth pig is a rare breed of
farm animal.

1) Like 2) How 3) That 4) Even

6- By far e of Saudi Arabia in oil.

1) the most important export 2) the most important export is

3) It is the most important export 4) That is the most important export

7- No matter —--—--—--emeeeemeev » Mozart was an accomplished composer while still a child.

1) how seems it remarkable 2) how it seems remarkable

3) how remarkable it seems 4) how it remarkable seems

8- e infinitely large number of undiscovered galaxies.

1) An 2) From an 3) Since there are 4) There are an

9- It is now known that Saturn ~-—----cce———- not the only planet in our solar system with rings.
1) be 2)is 3) so 4) which

10- The Mediterranean monk seal is distinguished from the more familiar gray seal by --—---e----
size.

1) its 2)isits 3)isa 4) is

) R numerous at the turn of the century, the number of tigers in India had fallen
in 2,500 by 1969.

1) It was 2) Not only 3) Although 4) They were

12- Another Burgess, ~------e-meeeeee - as a novelist, was originally a student of music.

1) he achieved fame 2) who has achieved fame

3) because of being famous 4) who because he was famous

13- A fine tomb, ~-~--cmemeeeeeeee - » marks the grave of the poet Chaucer.

1) erected in the 15™ century 2) which in the 15™ century was erecting

3) erecting in the 15" century 4) being erected in the 15" century

14- Today the cotton textile industry is -------—--mmeeeeeev important for the economy as it was a
century ago.

1) more 2) so 3) an 4) as

15- Grace Kelly was first famous as a Hollywood actress and then -------—eecceme-- wife of Prince
Rainer of Monaco.

1) as the 2) the 3) she was the 4) to be the
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PART B: Structure

Directions: Identify the underlined word or phrase that must be changed in order for the
sentence to be correct. Then mark the correct choice on your answer sheet.

16- A new battery for domestic appliances in the house is as thin and flexible as paper.
1 2 3 4

17- The cine-camera has fastly become obsolete with the invention of video recording technology.
1 2 3 4

18- Measle has not yet been eradicated because of controversy concerning immunization.
1 2 3 4

19- There is estimated that the Orion nebula contains enough matter to form 10,000 stars.
1 2 3 4

20- The rings of Saturn are so distant to be seen from Earth without a telescope.
1 2 3 4

21- Sprinkler system have proven to be the most effective means of fighting hotel fires.

1 2 3 4
22- One out of every eight balloons in the world are launched at Albuquerque, New Mexico.
1 2 3 4
23- To_help policymakers and another, the US government spends as much as $1.4 billion a year
B
in colllccting statistics. ) ’

4

24- Diane Arbus's unusual and controversial work includes photograph of sixties celebrities.
1 2 3 4

25- Most babies will grow up to be as cleverer as their pareats.
1 2 3 4

PART C: Vocabulary

Directions: Choose the word or phrase that best keeps the meaning of the original sentence
if it is substituted for the underlined word or phrase.

26- Componential analysis involves defining words by breaking them down into their component
parts and assigning them semantic features.

1) delegating 2) transterring 3) appointing 4) allocating

27- Some lexicographers strive for substitutability in their definitions: the idea that the definition
for a given word should be able to substitute for the word itself.

1) compete 2) rival 3) endeavor 4) challenge
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28- While various kinds of writing exhibited few markers of interactive discourse, other kinds of
written texts ranked higher on the scale of interactivity than many of the spoken texts that were
analyzed.

1) granted 2) showed 3) accorded 4) conferred

29- It is sometimes argued that the globalization of English has led to the death or displacement of
many of the languages of the world.

1) reimposition 2) reposition 3) restoration 4) replacement

30- The positing of four maxims of the cooperative principle raises another question: why these
four maxims and not more or fewer maxims?

1) declining 2) rejecting 3) postulating 4) discarding

31- Greenberg has proposed a language family called Eurasiatic, which have defied easy
classification into the major existent language families.

1) challenged 2) ignored 3) destroyed 4) damaged

32- While Latin have died, its legacy survives in its direct descendants, such as Spanish, Italian,
French, and Portuguese.

1) prominence 2) importance 3) inheritance 4) consequence
33- Spontaneous dialogues are one of the more loosely organized registers.
1) unimportant 2) intuitive 3) instinctive 4) unplanned

34- In an_unmarked tone unit, the last stressable syllable will receive the greatest tone, since
placing greater stress on this syllable serves to highlight the new information in the unit.

1) a most frequent 2) amost significant ~ 3) a most occasional ~ 4) a most imperceptible
35- At the level of syntax, certain structures form units but others do not. Those structures that
form units are not an ad hoc collection of constructions.

1) coherent 2) logical 3) prudent 4) arbitrary

PART D: Cloze Test

Directions: Fill in the blanks with the word or phrase that best keeps the meaning of the
original text. Then mark the correct choice on your answer sheet.

PASSAGE 1:
In the 1970s and 1980s, a new school of thought known as cognitive linguistics (36) ~--memmeeeee-
as a reaction to generativist theory. Led by theorists such as Ronald Langacker and George

LakolT, linguists working within the (37) =-—eemmemmmneemeev of cognitive linguistics (38) ————--mne-e-
that language is an emergent property of basic, general-purpose cognitive processes. In
(1) I — to the gencrativist school of linguistics, cognitive linguistics is non-
modularist and functionalist in character. Important developments in cognitive linguistics
(40) e cognitive grammar, frame semantics, and conceptual metaphor, all of
which are based on the idea that form-function (41) ——-eemeeeeeev based on representations
derived from embodied experience (42) =-e--emmmmmeemmene- the basic units of language.

36-1) produced 2) emerged 3) fabricated 4) induced

37-1) knowledge 2) land 3) science 4) realm

38-1) withdraw 2) deny 3) propose 4) abolish

39-1) contrast 2) agreement 3) harmony 4) accordance

40-1) examine 2) exclude 3) consider 4) include

41-1) statements 2) messages 3) communications  4) correspondences
42-1) promote 2) constitute 3) encourage 4) inspire
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PASSAGE 2:

Cognitive linguistics interprets language in terms of the concepts, sometimes universal,
sometimes specific to a particular tongue, which (43) -=---—--meummeean its forms. It is thus closely
I semantics but is distinct from psycholinguistics, which (45) ---—----mm-mmmm---
empirical findings from cognitive psychology in order to explain the mental processes that
underlie the acquisition, storage, production and understanding of speech and writing.
Cognitive linguistics (46) -------===-=--==-=- that there is an autonomous linguistic faculty in the
mind; it understands grammar in terms of conceptualization; and it claims that knowledge of
language arises out of language use. Because of its (47) --——---mme-mmemeem- that knowledge of
language is learned through use, cognitive linguistics is sometimes considered to be a
(48) —mmmmmmemememmeeae approach, but it differs from other functional approaches in that it is
primarily concerned with how the mind (49) ------------------- meaning through language, and not
with the use of language as a tool of (50) ---------=-mnmem- .

43-1) underlie 2) determine 3) prescribe 4) describe
44-1) the same as 2) different from 3) associated with 4) dissimilar to
45-1) refuse 2) set aside 3) ignore 4) draws upon
46-1) denies 2) generates 3) insists on 4) focuses on
47-1) ambiguity 2) conviction 3) doubt 4) hesitation
48-1) mentalist 2) formalist 3) functional 4) empirical
49-1) destroys 2) creates 3) affects 4) disregards
50-1) reproduction 2) propagation 3) communication 4) transmission

PART E: Reading Comprehension
Directions: Read the following passages and decide which choice (1), (2), (3) or (4) best fits
each space. Then mark the correct choice on your answer sheet.

PASSAGE 1:

It is possible to study the structure of words in terms of their morphology: the individual units
of meaning, called morphemes, of which words are composed. It is also possible, however, to
focus more on the meaning of these units. This kind of study is conducted in an area of
semantics known as lexical semantics. Although it may seem straightforward to investigate the
meanings of words, in actuality, lexical semantics has proven to be one of the more challenging
areas of semantics to study. It is often difficult to draw a clear boundary between grammar and
pragmatics: between meaning inherent in the words themselves and meaning derived from the
social context in which the words are uttered. In addition, while linguistics may disagree about
exactly what elements should be included in a verb phrase, for instance, it is far easier to define
those elements than to define a simple word such as the noun chair, a word that the Oxford
English Dictionary assigns sixteen different meanings.

For most people, word meanings are most closely associated with dictionaries, a general
reference guide for meaning and other matters, such as spelling, that people consult from their
earliest years in school through adulthood. Within linguistics, however, dictionaries have a
somewhat suspect reputation. As Kay observes, many semanticists view lexicography as
"largely and lamentably un-theorized, uneasily poised between the academic and commercial
worlds".
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51- What does the passage mainly discuss?

1) Lexical Semantics 2) Grammar and Pragmatics

3) Grammar and Lexicography 4) Reference Guide for Meaning

52- One can infer from the passage that one should concentrate on ---—------eceeeeee in lexical
semantics.

1) structure of words in terms of their morphology
2) meaning of words in terms of their morphology
3) structure of the individual units of meaning called morphemes
4) meaning of the individual units of meaning called morphemes

53- It is clearly mentioned in the passage that it may appear ------------meeee- to examine the
------------------- of words.

1) unsophisticated — semantics 2) uncomplicated — grammar

3) sophisticated — pragmatics 4) complicated — meanings

54- According to the passage, it is often challenging t0 -----------———--- .

1) define a simple word such as the noun chair

2) define the elements existent in a noun phrase

3) agree about what elements should be included in a verb phrase

4) draw a distinction between the literal meaning and the social meaning of the words uttered
55- For linguists, dictionaries ---r-=--memeeceu—- .

1) have a quite doubtful prestige

2) are largely and lamentably theorized

3) are associated with word meanings

4) are the only source of consultation from their earliest years in school

PASSAGE 2:

Constituents can be described in terms of their form and their function. In the clause the child
is healthy, healthy has the form of an adjective phrase and the function of a subject
complement. The form of some constituents can be determined by the particular suffixes that
they contain as well as their positions relative to other constituents. Healthy contains an ending,
-y, that is used to convert nouns to adjectives. Thus, healthy is derived from health, tasty from
taste, wealthy from wealth, and so forth. Healthy is also a predicative rather than an attributive
adjective: it occurs following the linking verb is rather than directly before the noun, as in the
healthy child. Healthy is functioning in the clause as a subject complement because it follows
the linking verb is and describes the subject of the sentence, the child.

The kinds of criteria applied above to identify adjectives and subject complements can be
applied to all forms and functions in English. Such an analysis reveals that constituents have
forms at all levels of structure. While all types of phrases, clauses, and sentences are given in
the list above, only a sampling of word classes is given, since additional classes exist in
English (e.g. articles, pronouns, conjunctions).

56- What would the best topic be for the above passage?

1) Syntactic Constituents 2) Form and Function

3) Subject Complement 4) Attributive Adjectives

57- One can infer from the passage that the -------—-——e-eeee of some constituents can be —-----vaeeem- .
1) form — determined by their pronunciation  2) function — specified by their position

3) function — determined by context 4) form — specified by suffixes

58- It is mentioned in the passage that a(n) —----————ereeeee adjective is an adjective which occurs
after ---—--mmueem- .

1) attributive — the noun 2) predicative — the noun

3) predicative — the linking verb 4) attributive — the linking verb
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59- According to the author, the kinds of standards ----------------—- in the passage to ---------------—-
adjectives and subject complements is true of all forms and functions in English.
1) utilized — endorse 2) used — recognize
3) rejected — condemn 4) accepted — approve
60- One can infer from the passage that the author ----—--—----v--nm-v the existence of extra word
classes in the English language.
1) denies 2) refuses 3) admits 4) declines
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